I &k (BIALRE R R L HERB 7 T 7) _H2T081 LA HAR-08137T 1E

LR Hh Bk

IEH ast B Xvvay T3 =i
1. BAAL# % 564 384 109 64 1
2. EHMEH 402 274 89 36 3
3. FEAIE 11. 3% 11. 4% 81. 7% 56. 3% 42. 9%
4 FHEEE 149. 4% 150. 3% 159. 6% 119. 7% 125. 7%
5. EHFERD 104. 6% 105. 2% 111. 7% 83. 8% 87. 8%
6. iR T 53 4 8 1 3
S 8. 6% 9. 6% 6. 8% 1. 5% 30. 0%
8. I AALEK 6.34 5. 64 10. 17 2.26 1.67
9. {RtEMEUNEE 36. 73{€H 27. 68{8H 1. 114EH[ 1. 78{8H 0. 16{2HM
10. 1487 Y EIUREE 9, 136FH 10, 101+ M 1,984+ H 4,947+ H 5, 403FH
L EANEALE 14. 9% 75. 5% 19. 8% 63. 9% 0. 0%
EREE Hh &R

IEH a5t B Xvvay T3 =i
1. BAAL 4% 163 122 12 19 10
2. EHMEH 104 84 8 8 4
3. FEAIE 63. 8% 68. 9% 66. 7% 42. 1% 40. 0%
4 FHEEE 140. 3% 144. 3% 122. 8% 136. 4% 101. 3%
5. EHFIERD 98. 2% 101. 0% 86. 0% 95. 5% 71. 0%
6. R T H% 1 6 0 0 1
S 4. 1% 4. 7% 0. 0% 0. 0% 9. 1%
8. I AFLE 3.87 4.21 2.63 3.25 1.00
9. {RtEMEINEE 9. 55{8H 8. 55(8H 0.4718H 0.411EH 0.06{EM
10. 14861 Y EIUREE 9, 187FH 10, 181+ M 5, 887FH 5 909FH 1,452+ H
L ENEALE 16. 9% 18. 6% 87.5% 75. 0% 25. 0%
B )1k

IEH a5t B Xvvay T3 =i
1. BAAL 4% 220 152 15 53 0
2. EHEH 121 94 7 20 0
3. FEAIE 95. 0% 61.8% 46. 7% 37. 7% 0. 0%
4 FHEEE 151. 6% 157. 3% 155. 4% 123. 1% 0. 0%
5. THFIERD 106. 1% 110. 1% 108. 8% 86. 2% 0. 0%
6. iR T 16 16 0 0 0
S 6. 8% 9. 5% 0. 0% 0. 0% 0. 0%
8. I AFLE 4.50 5.00 3.43 2.35 0.00
9. {RtEMEINEE 8. 995 M 8. 028 M 0.2318H 0. 75{8H 0.00{EH
10. 1#4 861 Y EIUREE 1,431FH 8, 527+H 3, 267FH 3, 7135FH 0F+H
L EANEALE 62. 8% 63. 8% 85. 7% 50. 0% 0. 0%
81| BR Hh 2%

IEH ast B Xvvay T =it
1. BAAL#4 % 2217 186 8 21 12
2. EHMEH 139 117 4 8 10
3. FEAIE 61. 2% 62. 9% 50. 0% 38. 1% 83. 3%
4 FHEEFE 145. 8% 148. 2% 147. 8% 117. 9% 139. 2%
5. T FIERD 102. 1% 103. 8% 103. 4% 82. 6% 97. 4%
6. iR T 19 18 0 1 0
S 1.7% 8. 8% 0. 0% 4. 5% 0. 0%
8. I AALEK 3.20 3.49 3.00 1.88 1.20
9. {RtEMEINEE 10. 0912 M 1. 716{8H 1.61/8HM 0. 242 H 0.48{2H
10. 1#4 &%= Y EIUREE 1,260FH 6,630F M| 40,358FH 3, 040FH 4, 763FH
T EANEALE 66. 2% 65. 8% 15. 0% 50. 0% 80. 0%




FLIR R
1. BAAL -2

3. FEAIE

5. EHBIER?

_ - e - PR S S =0 <. e - PR I S =0
oFgE owoiay O+t 2 2
2500 100 ¢ @ - EH it 1400 ¢ @ - i it
A--A- 120%
2,000 80% A A--,
A - >_& 100%
1500 60% -
o | 8o
;
1,000 a0% | e -0 60%
L 4 * 40% |
500 20%
20%
0 o s o s
H20 H21 H22 H23 H24 H25 H26 H20 H21 H22 H23 H24 H25 H26 H20 H21 H22 H23 H24 H25  H26
== 42 oo e
1. FAL 3. FEHIE 5. EHBIER?
_ - e - PR S S =0 - - e - PR S S =0
oFz ovovan ot 2 2
700 100 - @- - Lt C—— 5T 1400 = ®- - Lt C—— 5T
600 120%
80%
500 100% -
400 60% 80%
300 o 60%
200 a0% |
20%
100 20%
0 o s o s
H20 H21 H22 H23 H24 H25 H26 H20 H21 H22 H23 H24 H25 H26 H20 H21 H22 H23 H24 H25 H26
1B &
== 42 oo e
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1. AL 3. FEHIE 5. EHBIER?
_ - e - PR S S =0 <. e - PR R S =0
oFg ovoiay Ot 2 2
1,200 1o0% [ @ - i it 160% [ " - i it
140%
1,000
120%
800
100%
600 80%
60%
400
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& H#h &

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 333 202 42 63 26
2. EHMEH 236 145 41 39 11
3. FEAIE 70. 9% 71. 8% 97. 6% 61.9% 42. 3%
4 FHEEFE 159. 1% 159. 0% 181. 4% 142. 5% 135. 6%
5. THFIERD 95. 4% 95. 4% 108. 8% 85. 5% 81. 5%
6. R T4 53 36 11 6 0
S 13. 7% 15. 1% 20. 8% 8. 7% 0. 0%
8. I AFLE 6. 65 6. 56 10.73 3. 61 1.36
9. {RtEMEUNEE 29. 50{EH 22. 27{8H 5. 05(8H 2. 045H 0. 14EH
10. 14861 Y EIUREE 12, 500FH 15, 359FH 12,327+ H 5 228FH 1,236FH
L EANEALE 65. 3% 68. 3% 80. 5% 48. 7% 27. 3%
BEthE

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 291 133 15 93 50
2. EHMEH 163 102 10 33 18
3. FEAIE 96. 0% 16. 7% 66. 7% 35. 5% 36. 0%
4 FHEEE 172. 6% 201. 6% 197. 1% 122. 0% 87. 3%
5. EHFIERD 103. 6% 121. 0% 118. 3% 13.2% 52. 4%
6. iR T H% 52 40 3 6 3
S 15. 2% 23. 1% 16. 7% 6. 1% 5. 7%
8. I AFLE 4.59 5.44 6.90 2.33 1.08
9. {RtEMEUNEE 16. 6012 M 12. 2818 M 0. 845 M 3. 3618 M 0. 128H
10. 1#4 &1 Y EIUREE 10, 184+ H 12,041+ H 8, 428+H 10, 169+ H 662+ M
T EANEALE 57. 1% 70. 6% 80. 0% 42. 4% 0. 0%
LLI i 3t

IEH ast B Xvvay T3 =i
1. BAAL 4% 315 213 6 41 55
2. EHMEH 190 145 6 23 16
3. FEAIE 60. 3% 68. 1% 100. 0% 56. 1% 29. 1%
4 FHEEE 151. 1% 161. 3% 173. 3% 121. 8% 92. 3%
5. T FERD 90. 6% 96. 8% 104. 0% 13. 1% 55. 3%
6. iR T 35 29 0 2 4
S 10. 0% 12. 0% 0. 0% 4. 7% 6. 8%
8. I AFLE 3. 41 3.70 7.00 2.10 1.19
9. {RtEMEINEE 15. 318 M 13. 5818 M 0.48{EM 1. 09/8H 0. 1718H
10. 1#4 &1 Y EIUREE 8, 060FH 9,367FH 1,956+ H 4, 134T H 1,035FH
L EANEALE 57. 4% 65. 5% 66. 7% 43. 5% 0. 0%
BE A b £

IEH ast B Xvvay T =it
1. BAAL 4% 300 149 9 85 57
2. EHMEH 175 115 5 37 18
3. FEAIE 58. 3% 17.2% 95. 6% 43. 5% 31. 6%
4 FHEEE 155. 4% 165. 2% 167. 4% 126. 7% 148. 8%
5. T FIERD 93. 3% 99. 1% 100. 4% 76. 1% 89. 3%
6. iR T 49 18 2 2 2]
S 14. 0% 10. 8% 18. 2% 2. 3% 32. 1%
8. I AALEK 4.15 4.85 8.20 2.33 2.39
9. {RtEMEINEE 1. 428 M 9.328M 0.428H 1178 0.52{8H
10. 144861 Y EIUREE 6,528+ H 8, 101+H 8, 410FH 3, 165FH 2, 865FH
T EANEALE 47. 4% 51.3% 100. 0% 40. 5% 22. 2%
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FhEHthE

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 582 357 5 131 89
2. EHMEH 2217 145 3 37 42
3. FEAIE 39. 0% 40. 6% 60. 0% 28. 2% 47. 2%
4 FHEEFE 122. 9% 131. 8% 172. 0% 107. 4% 102. 3%
5. THFIERD 19. 2% 84. 8% 117. 8% 67. 9% 67. 0%
6. R T4 30 23 0 3 4
S 4. 9% 6. 1% 0. 0% 2. 2% 4.3%
8. I AFLE 2.75 3.15 9.67 1.97 1.43
9. {RtEMEUNEE 9. 18{8H 8. 2618 M 0.28{8HM 0. 881 M 0.36{EM
10. 14861 Y EIUREE 4, 309FH 5 694FH 9, 255FH 2, 384FH 868+H
L EANEALE 48. 9% 58. 6% 66. 7% 40. 5% 21. 4%
EaHE

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 118 362 15 270 71
2. EHMEH 336 220 1 90 19
3. FEAIE 46. 8% 60. 8% 46. 7% 33. 3% 26. 8%
4 FHEEE 142. 0% 150. 7% 167. 9% 117. 4% 148. 3%
5. EHFIERD 85. 2% 90. 4% 100. 8% 70. 5% 89. 0%
6. iR T H% 40 36 0 3 1
S 5. 3% 9. 0% 0. 0% 1.1% 1. 4%
8. I AFLE 3. 39 4.01 1.20 1.88 1. 47
9. {RtEMEUNEE 20. 53{EH 18. 05{E M 0.48{2H 1. 8648 H 0. 14EH
10. 1#4 &1 Y EIUREE 6, 109FH 8, 203+ H 6,819FH 2, 065FH 152FH
T EANEALE 95. 7% 60. 9% 0. 0% 52. 2% 31. 6%
R AR

IEH ast B Xvvay T3 =i
1. BAAL 4% 1,627 618 951 50 8
2. EHMEH 1,571 587 937 45 2
3. FEAIE 96. 6% 95. 0% 98. 5% 90. 0% 25. 0%
4 FHEEE 155. 2% 145. 3% 161. 9% 147. 6% 80. 0%
5. T FERD 108. 6% 101. 7% 113. 3% 103. 3% 56. 0%
6. iR T 374 176 182 16 0
S 18. 7% 22. 2% 16. 1% 24. 2% 0. 0%
8. I AFLE 13.52 10. 26 15. 84 8. 00 1.00
9. {RtEMEINEE 513. 128H|  286. 36{8FM| 207. 66{8H 18. 9118 H 0. 14EH
10. 1#4 &1 Y EIUREE 32,662FF| 48 7/83FM| 22 162FH| 42 159FH 6,928+ H
L EANEALE 88. 9% 85. 5% 91. 6% 82. 2% 0. 0%
1R

IEH ast B Xvvay T =it
1. BAAL 4% 1, 556 682 136 92 46
2. EHMEH 1,373 611 695 59 8
3. FEAIE 88. 2% 89. 6% 94. 4% 64. 1% 17. 4%
4 FHEEE 150. 9% 144. 0% 158. 3% 139. 7% 112. 3%
5. T FIERD 105. 6% 100. 8% 110. 8% 97. 7% 18. 6%
6. iR T 264 159 93 11 1
S 14. 5% 18. 9% 11. 2% 10. 7% 2.1%
8. I AALEK 10. 37 8. 71 12.317 4.75 2.00
9. {RtEMEINEE 266. 9842 H 151. 98{8H 100. 7742 13. 438 M 0. 798 H
10. 144861 Y EIUREE 19, 445FHM| 24 814FH 14,499FH| 22, 711FH 9,896FH
T EANEALE 84. 6% 84. 8% 87.8% 49. 2% 50. 0%
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BEHE

IEH =X B Trvay T 2 ih
1. AL %k 1,413 866 441 68 38
2. REEE 1,236 758 419 52 7
3. FHIE 87. 5% 87.5% 95. 0% 76. 5% 18. 4%
4. FHEEE 149. 0% 143. 6% 158. 7% 150. 7% 133. 9%
5. FEHEER2 92. 1% 88. 9% 98. 2% 92. 0% 82. 4%
6. T2 155 101 42 Ji 5
1. TE 9. 9% 10. 4% 8. 7% 9. 3% 11. 6%
8. EHAFLEL 9.93 7.85 14. 29 5.00 2.40
9. {E+EMINEE 166. 77{&H 104. 80{& M 54. 31{EH 1. 13EH 0.53EM
10. 1#4H1=Y EIREE 13, 493+ H 13,826 FH 12,961FH 13, 114+ H 7,603FH
11 EAERLE 79. 8% 17.2% 87. 1% 67.3% 14. 3%
FEHE

IEH =X P Trvay T 2 ih
1. FAALE % 1,438 840 351 196 51
2. REEE 1,294 785 340 148 21
3. FHIE 90. 0% 93. 5% 96. 9% 75. 5% 41.2%
4. FHEEE 170. 8% 185. 9% 150. 2% 140. 6% 150. 8%
5. FEHEER2 110. 9% 119. 6% 101. 6% 88. 6% 93. 7%
6. T2 215 161 38 9 7
1. TE 13. 0% 16. 1% 9. 8% 4. 4% 12.1%
8. EHAFLEL 9.05 9.05 11.27 4.39 2.42
9. {E4E[MINEE 168. 042 H 105. 43{&8H 50. 6612 H 10. 158 H 1. 80{&H
10. 1#4H1-Y EIREE 12, 986FH 13, 431+ H 14, 900+ H 6,861FH 8,548+ H
11 EAERLE 75. 0% 75. 0% 86. 5% 57. 4% 9. 5%
7K F &k

IEH =X B Trvay T 2 ih
1. FAALE 3 1,588 767 48 648 125
2. REEE 1,003 624 47 286 46
3. FHIE 63. 2% 81.4% 97. 9% 44. 1% 36. 8%
4. FHEEE 162. 7% 183. 8% 173. 5% 119. 1% 136. 1%
5. FyEHEER2 97. 6% 110. 3% 104. 1% 71. 5% 81. 6%
6. T2 156 90 39 15 12
1. TE 8.9% 10. 5% 44. 8% 2.3% 8. 8%
8. EHAFLEL 5.23 6.33 8.46 2.72 1.50
9. {E+E[MINEE 75. 93{EH 63. 6912 M 4. 00(EH 1.691EH 0.548H
10. 1#4H1-Y EIREE 7,570FH 10, 207+ H 8,515FH 2,690FH 1, 180FH
11 EAERLE 60. 2% 65. 1% 83. 0% 52. 8% 17. 4%
FE = Hh &L

EH &it i Xriay T i Eih
1. AL %k 846 476 40 268 62
2. REEE 520 356 31 96 37
3. FHIE 61. 5% 74. 8% 77. 5% 35. 8% 59. 7%
4 FHEEE 156. 1% 156. 4% 194. 9% 130. 4% 187. 8%
5. FEHEER2 93. 7% 93. 8% 116. 9% 78. 2% 112. 7%
6. T 45 32 Y 6 5
1. TE 5.1% 6. 3% 4.8% 2.2% 7. 5%
8. EHAFLEL 4.93 5. 58 7.35 2.94 1.50
9. {E+E[MINEE 58. 0912 H 49. 2015 H 3. 65{EH 4. 311EH 0.86{1EH
10. 1#4H1-Y EIREE 11, 1711FH 13, 821FH 11, 786FH 4, 549FH 2,337TFH
11 EAERLE 60. 8% 70. 2% 61. 3% 42. 7% 16. 2%
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RS H £

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 889 575 35 146 133
2. EHMEH 955 406 31 18 40
3. FEAIE 62. 4% 70. 6% 88. 6% 53. 4% 30. 1%
4 FHEEFE 141. 4% 147. 1% 158. 0% 118. 4% 115. 4%
5. THFIERD 84. 8% 88. 3% 94. 7% 71. 0% 69. 2%
6. R T4 12 56 2 8 6
S 1.5% 8. 9% 5. 4% 5. 2% 4.3%
8. I AFLE 4.63 5.21 4.80 2.53 1.56
9. {RtEMEUNEE 53. 80{E M 45. 9848 M 2. 12(8H 4. 85(EH 0.85(EH
10. 14861 Y EIUREE 9,693FH 11,325+ H 6, 839FH 6, 217+ H 2,124+ H
L EANEALE 67. 6% 11. 4% 80. 6% 61.5% 30. 0%
Fp i Hh £

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 1,185 705 116 266 98
2. EHMEH 676 434 97 129 16
3. FEAIE 57. 0% 61. 6% 83. 6% 48. 5% 16. 3%
4 FHEEE 129. 9% 131. 5% 155. 4% 108. 4% 103. 9%
5. EHFIERD 16. 8% 17. 9% 92. 0% 64. 0% 58. 7%
6. iR T H% 121 93 10 14 4
S 9.3% 11. 7% 1.9% 5. 0% 3. 9%
8. I AFLE 4.25 4.51 5. 69 2.40 1.13
9. {RtEMEUNEE 85. 07{E€ M 71.53{8H 1. 29{8H 5. 3718H 0.8718H
10. 1#4 &1 Y EIUREE 12, 584+ H 16, 482+ H 1,511+H 4,166+ M 5, 454+ H
T EANEALE 60. 4% 67. 1% 66. 0% 37. 2% 31. 3%
FR i th £

IEH ast B Xvvay T3 =i
1. BAAL 4% 616 342 26 127 121
2. EHMEH 305 196 20 56 33
3. FEAIE 49. 5% 57.3% 16. 9% 44. 1% 27. 3%
4 FHEEE 140. 8% 145. 3% 205. 3% 115. 3% 118. 9%
5. T FERD 10. 4% 12. 6% 102. 7% 57. 7% 59. 4%
6. iR T 33 19 2 3 9
S 5. 1% 5. 3% 1.1% 2. 3% 6. 9%
8. I AFLE 3. 89 4.68 5.33 1.96 1.65
9. {RtEMEINEE 30.17{€H 24. 97{EH 0. 8918 M 3. 0918 M 1. 228 M
10. 1#4 &1 Y EIUREE 9,892+ H 12, 138+ H 4,462+ H 5 526FH 3, 687FH
L EANEALE 50. 5% 59. 2% 30. 0% 42. 9% 24. 2%
Rt

IEH ast B Xvvay T =it
1. BAAL 4% 653 488 25 91 49
2. EHMEH 408 316 20 47 25
3. FEAIE 62. 5% 64. 8% 80. 0% 51. 6% 51. 0%
4 FHEEE 142. 1% 143. 8% 144. 0% 130. 5% 141. 3%
5. T FIERD 81.8% 83. 0% 82. 0% 74. 9% 79. 5%
6. iR T 63 49 4 0 10
S 8. 8% 9. 1% 13. 8% 0. 0% 16. 9%
8. I AALEK 3.61 3. 76 6.00 2. 67 1. 64
9. {RtEMEINEE 38. 13{€H 35. 06/8H 1. 448 H 1. 73{8H 0. 498 H
10. 144861 Y EIUREE 9,492+ H 11,094+ H 1,223FH 3, 688FH 1,961FH
T EANEALE 99. 8% 65. 2% 60. 0% 51. 1% 8. 0%
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it

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 879 543 114 151 71
2. EHMEH 417 273 61 59 24
3. FEAIE 47. 4% 50. 3% 93. 5% 39. 1% 33. 8%
4 FHEEFE 130. 3% 137. 6% 123. 0% 114. 4% 106. 0%
5. THFIERD 18. 2% 82. 5% 13. 8% 68. 6% 63. 6%
6. R T4 53 33 5 2 13
S 5. 7% 5. 7% 4. 2% 1. 3% 15. 5%
8. I AFLE 3.63 3.83 5.40 1.95 1.63
9. {RtEMEUNEE 29. 11{E€H 24. 18{8H 2. 658 M 1. 83{8H 0.45(EH
10. 14861 Y EIUREE 1,124FH 9,077FH 4, 345FH 3,102+ H 1,858FH
L EANEALE 95. 4% 61.5% 52. 5% 49. 2% 8. 3%
AT EMER

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 1,128 587 340 111 90
2. EHMEH 941 480 332 90 39
3. FEAIE 83. 4% 81.8% 97. 6% 81. 1% 43. 3%
4 FHEEE 154. 1% 148. 7% 165. 6% 145. 6% 143. 3%
5. EHFIERD 97. 1% 92. 3% 107. 1% 90. 3% 85. 9%
6. iR T H% 170 103 34 21 12
S 13. 1% 14. 9% 9. 1% 15. 9% 11. 8%
8. I AFLE 1.64 7. 11 9.68 4.79 2.43
9. {RtEMEUNEE 169. 14i2H 116. 432 M 36. 30{E€ M 14. 528 M 1. 898 M
10. 1#4 &1 Y EIUREE 17,975FHM| 24 255FH 10, 934+ H 16, 137+ H 4, 850FH
T EANEALE 14. 4% 13. 1% 87. 0% 57. 8% 20. 5%
AL

IEH ast B Xvvay T3 =i
1. BAAL 4% 582 412 22 124 24
2. EHMEH 360 280 22 55 3
3. FEAIE 61. 9% 68. 0% 100. 0% 44. 4% 12. 5%
4 FHEEE 135. 3% 137. 4% 150. 7% 119. 0% 121. 7%
5. T FERD 81. 2% 82. 4% 90. 4% 11. 4% 13. 2%
6. iR T 53 38 4 9 2
S 8. 3% 8. 4% 15. 4% 6. 8% 1. 7%
8. I AFLE 3. 80 3.99 5.91 1.75 1.50
9. {RtEMEINEE 29. 48{8H 25. 19/8H 1. 948 M 2. 3118H 0. 04EH
10. 1#4 &1 Y EIUREE 8, 188+H 8,995FH 8, 803FH 4, 206+ H 1,377+ H
L EANEALE 58. 6% 62. 1% 12. 7% 38. 2% 0. 0%
5z B 1th &K

IEH ast B Xvvay T =it
1. BAAL 4% 171 494 24 136 117
2. EHMEH 384 274 24 56 30
3. FEAIE 49. 8% 55. 5% 100. 0% 41. 2% 25. 6%
4 FHEEE 120. 5% 122. 6% 147. 8% 99. 8% 117. 2%
5. T FIERD 12. 3% 13. 6% 88. 7% 59. 9% 70. 4%
6. iR T 53 40 0 7 6
S 6. 4% 1. 5% 0. 0% 4. 9% 4.9%
8. I AALEK 3.76 3.97 5.83 2.10 2.55
9. {RtEMEINEE 37.87{€H 31. 12{8H 1. 978 M 2. 3118H 2. 4615 M
10. 144861 Y EIUREE 9,862FH 11, 358FH 8, 219FH 4, 130+H 8, 208+ H
T EANEALE 58. 9% 61. 7% 10. 8% 39. 3% 60. 0%




Bt
1. BAAL -2

3. FEAIE

5. EHBIER?

_ - e - PR SR Sl =) - - e - PR SR Sl =)
oFE owyay ot 7 Z
1400 100 [ @ - E it 1o0% [ @ - Ei it
1200
1,000
800
600
400
200
0 o e o e
H20 H2l H22 H23 H24 H25 H26 H20 H21 H22 H23 H24 H25 H26 H20 H21 H22 H23 H24 H25 H26
== 42 e e o
1. AL 3. FEHIE 5. FYRIFER2
_ - e - FR SR Sl =) - - e - PR SR Sl =)
oFE owyay ot 7 7
2,006 fooy [ @B A—.A_i LA | 0w ook it
1800 | A A"
1,600 80% = $-2- 100%
1,400 K .
® - .o I SR 80%
1200 60% -
1,000 60%
800 aon |
600 40%
400 20% oo |
200
0 o e o e
H20 H2l H22 H23 H24 H25 H26 H20 H21 H22 H23 H24 H25 H26 H20 H21 H22 H23 H24 H25 H26
R EL
== 42 oo e o
1. AL 3. FEHIE 5. FY R IFER2
_ - e - FR SR Sl =) - - e - PR SR Sl =)
oFE owiay ot 7 Z
1,800 T == A-*‘El‘a‘f' A 1000 = ®- - Lt e — 5t
1,600 gy “A
. 100%
1,400 80%
1200 80%
60% |
1,000
60%
800
ao% |
600 40%
400 0% o |
200
0 o e o e
H20 H2l H22 H23 H24 H25 H26 H20 H21 H22 H23 H24 H25 H26 H20 H21 H22 H23 H24 H25 H26
== 42 e e o
1. AL 3. FEHIE 5. FYRIFER2
_ - e - FR SR Sl =) - - e - PR SR Sl =)
oFE owyay ot Z Z
1400 100 ¢ @ - ——e——aE 4 | 100y [ * - it it
A~ A : A M .
1,200 A.  .-& o - - .A-"&
80% — - a 80%
1,000 0. 26 o
60% | 60% | ..".‘-0" --."'0
800 ’__0--0--0-..
600 40% - g e , ®- -0 40% -
L R . K .’
400 e’
20% 20%
200
0 o e o e
H20 H2l H22 H23 H24 H25 H26 H20 H21 H22 H23 H24 H25 H26 H20 H21 H22 H23 H24 H25 H26



fEF iR

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 301 210 15 49 2]
2. EHMEH 152 109 8 30 5
3. FEAIE 50. 5% 51.9% 93. 3% 61.2% 18. 5%
4 FHEEFE 126. 5% 126. 6% 164. 9% 116. 3% 126. 4%
5. THFIERD 15. 9% 75. 9% 99. 0% 69. 8% 75. 9%
6. R T4 6 5 1 0 0
S 2. 0% 2. 3% 6. 3% 0. 0% 0. 0%
8. I AFLE 3.57 3. 69 1.1 2.50 1. 40
9. {RtEMEUNEE 13. 68{E M 10. 2148 M 0. 65{2 M 2. 18{8H 0.05(EHM
10. 14861 Y EIUREE 9,003FH 9, 363FH 8, 100+H 9, 257FH 1,072+ H
L EANEALE 93. 9% 57. 8% 15. 0% 43. 3% 0. 0%
&R AR

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 329 234 11 53 31
2. EHMEH 221 172 8 32 9
3. FEAIE 67. 2% 713. 5% 12. 7% 60. 4% 29. 0%
4 FHEEE 162. 6% 165. 8% 209. 4% 138. 5% 145. 0%
5. EHFIERD 97. 1% 99. 5% 125. 7% 83. 1% 75. 4%
6. iR T H% 20 16 2 1 1
S 5. 7% 6. 4% 15. 4% 1.9% 3. 1%
8. I AFLE 5.25 5. 66 1.14 3.57 1.50
9. {RtEMEUNEE 21. 428H 18. 54EH 0.85(EH 1. 82{8H 0.218H
10. 1#4 &1 Y EIUREE 9,694FH 10, 780+ H 10, 603FH 5 688FH 2, 3713FH
T EANEALE 66. 5% 70. 3% 15. 0% 62. 5% 0. 0%
= Lt &

IEH ast B Xvvay T3 =i
1. BAAL 4% 297 207 10 52 28
2. EHMEH 161 120 1 21 13
3. FEAIE 94. 2% 58. 0% 10. 0% 40. 4% 46. 4%
4 FHEEE 139. 4% 148. 0% 133. 0% 119. 0% 96. 2%
5. T FERD 83. 6% 88. 8% 19. 8% 11. 4% 57. 7%
6. iR T 14 11 0 2 1
S 4. 5% 5. 0% 0. 0% 3. 7% 3. 4%
8. I AFLE 4.271 4.92 4.86 2.05 1.25
9. {RtEMEINEE 15. 9612 M 14. 58{E M 0.4612H 0.811EH 0. 11{EH
10. 1#4 &1 Y EIUREE 9,916+ H 12, 148+ H 6, 550FH 3, 877T+H 882+ H
L EANEALE 99. 6% 11. 7% 42. 9% 23. 8% 15. 4%
KB ih &

IEH ast B Xvvay T =it
1. BAAL 4% 2,006 1,239 587 164 16
2. EHMEH 1,772 1,120 545 99 8
3. FEAIE 88. 3% 90. 4% 92. 8% 60. 4% 50. 0%
4 FHEEE 154. 2% 153. 8% 157. 8% 144. 2% 99. 8%
5. T FIERD 107. 9% 107. 5% 110. 5% 100. 9% 69. 8%
6. iR T 224 144 12 6 2
S 10. 0% 10. 4% 10. 9% 3. 5% 11. 1%
8. I AALEK 9.26 8.58 11.50 4.79 1.00
9. {RtEMEINEE 343. 27f6M|  260. 46{8H 64. 988 M 17. 358 H 0.48{2HM
10. 144861 Y EIUREE 19, 372F M| 23, 256FH 11,922+ H 17,524+ H 5 972FH
T EANEALE 80. 6% 82. 3% 81.8% 59. 6% 12. 5%
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RN EL

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 5717 378 104 86 9
2. EHMEH 440 286 98 53 3
3. FEAIE 16. 3% 15. 7% 94. 2% 61. 6% 33. 3%
4 FHEEFE 179. 5% 176. 1% 200. 5% 160. 4% 141. 3%
5. THFIERD 98. 7% 96. 9% 110. 3% 88. 2% 77. 8%
6. R T4 15 62 8 5 0
S 11. 5% 14. 1% 1.1% 5. 5% 0. 0%
8. I AFLE 9.06 8.25 13. 81 4.53 1.33
9. {RtEMEUNEE 64. 85{8 M 48. 1318 M 10. 528 M 6. 0615 M 0. 158 M
10. 14861 Y EIUREE 14, 7139FH 16,827+ H 10, 734+ H 11,425+ H 5 118F+H
L EANEALE 10. 0% 69. 6% 18. 6% 58. 5% 33. 3%
P

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 1,323 753 385 162 23
2. EHMEH 1,113 634 367 103 9
3. FEAIE 84. 1% 84. 2% 95. 3% 63. 6% 39. 1%
4 FHEEE 172. 2% 166. 9% 187. 2% 157. 0% 112. 8%
5. EHFIERD 96. 6% 90. 4% 112. 3% 82. 1% 56. 4%
6. iR T H% 175 1 52 8 4
S 11.7% 12. 8% 11. 9% 4. 7% 14. 8%
8. I AFLE 1.75 6.72 10.91 3. 36 1.22
9. {RtEMEUNEE 161. 0842 M 113.57{8H 41. 7648 H 5. 67%8H 0.08{EM
10. 1#4 &1 Y EIUREE 14,472+ H 17,913FH 11, 380FH 5 507FH 839FH
T EANEALE 16. 4% 74. 9% 85. 3% 60. 2% 0. 0%
ZREHE

IEH ast B Xvvay T3 =i
1. BAAL 4% 384 246 63 63 12
2. EHMEH 282 185 59 32 6
3. FEAIE 13. 4% 15.2% 93. 7% 50. 8% 50. 0%
4 FHEEE 143. 1% 143. 4% 141. 9% 130. 2% 213. 5%
5. T FERD 85. 9% 86. 1% 85. 2% 18. 2% 128. 2%
6. iR T 28 25 1 0 2
S 6. 8% 9. 2% 1. 6% 0. 0% 14. 3%
8. I AFLE 5.70 5. 62 8.14 1.93 3.33
9. {RtEMEINEE 32. 37{€H 25. 89{8H 4. 548 H 1. 59{8H 0. 358 M
10. 1#4 &1 Y EIUREE 11,478FH 13,995+ H 1,695FH 4,965+ H 5, 800FH
L EANEALE 62. 1% 62. 2% 69. 5% 56. 3% 16. 7%
KiEHnEL

IEH ast B Xvvay T =it
1. BAAL 4% 549 339 81 85 44
2. EHMEH 376 231 81 47 17
3. FEAIE 68. 5% 68. 1% 100. 0% 55. 3% 38. 6%
4 FHEEE 136. 6% 146. 2% 124. 7% 124. 4% 97. 4%
5. T FIERD 82. 0% 87. 7% 14. 8% 14. 6% 58. 4%
6. iR T 38 26 4 3 5
S 6. 5% 1. 1% 4.7% 3. 4% 10. 2%
8. I AALEK 5.03 5. 173 4.79 3. 21 1.31
9. {RtEMEINEE 46. 928 M 35. 6648 H 5 61{EH 5. 4918H 0. 158 M
10. 144861 Y EIUREE 12, 478FH 15,437+ H 6,931+ H 11,675FH 907+ H
T EANEALE 67. 0% 66. 2% 85. 2% 57. 4% 17. 6%
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FNERLL 3t E

IEH =X B Trvay T 2 ih
1. BAfL4 5 480 266 35 161 18
2. SEAE S 280 171 32 71 6
3. FEHIER 58. 3% 64. 3% 91. 4% 44.1% 33. 3%
4. FHHERE 142. 0% 149. 5% 141. 3% 122. 3% 164. 8%
5. FHE SR 85. 2% 89. 7% 84. 8% 73. 4% 99. 0%
6. BR T3k 20 17 1 2 0
1. TFE 4. 0% 6. 0% 2. 8% 1.2% 0. 0%
8. FHA*LK 4.217 5.11 4.32 2.35 1.67
9. {E+E[EUREE 21. 358 16. 40{E M 1. 788 M 3. 10{&M 0.07&H
10. 14 &= Y [EUREE 7, 624FH 9, 589FH 5, 559FH 4, 366FH 1,167FH
1 EANELE 56. 4% 59. 6% 68. 8% 47. 9% 0. 0%
[ B i E

IEH =X P Trvay T 2 ih
1. BAfL 5 621 376 76 122 47
2. SEAE S 376 252 68 46 10
3. FEHIR 60. 5% 67.0% 89. 5% 37. 7% 21.3%
4. FHHERE 162. 1% 162. 5% 196. 8% 124.1% 90. 9%
5. FHEHEERD 73.9% 81.2% 59. 0% 61.7% 45. 4%
6. BR T3k 75 55 13 7 0
1. TFE 10. 8% 12. 8% 14. 6% 5. 4% 0. 0%
8. FHA*LEK 6. 74 6. 24 11.33 2.93 1.29
9. E+E [ UREE 40. 9318HM 30. 544&H 7.65(8H 2. 58{&H 0. 18{ZM
10. 14 &= Y [EUREE 10,887FH| 12, 117FH| 11,243FH 5, 600FH 1, 7713FH
1 EANELE 66. 5% 66. 3% 82. 4% 54. 3% 20. 0%
] 1L 3t &

IEH =X B Trvay T 2 ih
1. BAfLF 3 440 294 23 100 23
2. SEAME S 268 188 23 53 4
3. FEHIER 60. 9% 63. 9% 100. 0% 53. 0% 17. 4%
4. FHERE 165. 1% 171. 7% 199. 2% 124. 6% 195. 5%
5. FHEHEER2 80. 8% 85. 8% 79. 7% 62. 3% 97. 8%
6. BR T3k 40 36 4 0 0
1. TFE 8. 3% 10. 9% 14. 8% 0. 0% 0. 0%
8. FHA*LEK 6.16 6. 64 10. 17 2.88 2.00
9. E+E[EUREE 37.0148HM 28. 3148H 2. 42{EH 6. 14EH 0. 14EH
10. 14 &= Y [EUREE 13,810FH| 15,060FMH| 10,519FH| 11,587FH 3, 456 FH
1 EANELE 64. 6% 68. 6% 56. 5% 58. 5% 0. 0%
1L O 3 &

EH &it i Xriay T i Eih
1. BAfL4 5 389 234 22 131 2
2. SEAE S 197 129 22 45 1
3. FEHIER 50. 6% 55. 1% 100. 0% 34. 4% 50. 0%
4. FHERE 158. 5% 158. 2% 237. 9% 121.3% 113. 0%
5. FHE R 79. 2% 79. 1% 118. 9% 60. 7% 56. 6%
6. lR T3k 15 10 2 2 1
1. BT 3. 7% 4.1% 8. 3% 1.5% 33. 3%
8. F AfLEK 4.47 4.10 11.09 2.05 2.00
9. E+E[E UREE 17.32{8M 12. 26{&H 2.93(EH 2. 10{8H 0. 04EH
10. 14 &= Y [EUREE 8, 791 FH 9,501 FH| 13, 304FH 4,656 FH 4,031 FH
L EANEALE 70. 6% 72. 9% 95. 5% 51.1% 100. 0%
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E &

IEH =X B Trvay T 2 ih
1. BAfL4 5 193 127 12 34 20
2. SEAE S 100 75 8 16 1
3. FEHIER 51. 8% 59. 1% 66. 7% 47.1% 5. 0%
4. FHHERE 163. 8% 161. 9% 266. 8% 126.1% 80. 0%
5. FHE SR 81.9% 81. 0% 133. 3% 63. 0% 40. 0%
6. BR T3k 16 12 1 2 1
1. TFE 7. 7% 8. 6% 7. 7% 5. 6% 4. 8%
8. FHA*LK 3.58 3.58 7.25 1.71 1.00
9. {E+EMINEE 1. 2618M 5. 571EH 0. 7612H 0.93EH 0.00EH
10. 14 &= Y [EUREE 7,261 FH 7, 423FH 9,538 FH 5, 794FH 416FH
1 EANELE 64. 0% 68. 0% 75. 0% 43. 8% 0. 0%
FAST 8

IEH =X P Trvay T 2 ih
1. BAfL 5 307 230 20 39 18
2. SEAE S 96 75 6 12 3
3. FEHIR 31.3% 32. 6% 30. 0% 30. 8% 16. 7%
4. FHHERE 123. 6% 122.1% 165. 2% 94. 8% 193. 3%
5. FHEHEERD 61.8% 61.1% 82. 5% 47. 4% 96. 5%
6. BR T3k 14 11 0 3 0
1. TFE 4. 4% 4. 6% 0. 0% 7.1% 0. 0%
8. FHA*LEK 2.35 2.50 2.67 1.64 1.00
9. {E4E[MINEE 5. 94EH 5. 32(BH 0.321EH 0.171EH 0.13EH
10. 14 &= Y [EUREE 6, 188FH 7,095F H 5, 367FH 1,395FH 4,315FH
1 EANELE 49. 0% 49. 3% 66. 7% 25. 0% 100. 0%
EithE

IEH =X B Trvay T 2 ih
1. BAfLF 3 313 178 32 45 58
2. SEAME S 193 127 27 25 14
3. FEHIER 61.7% 71. 3% 84. 4% 55. 6% 24.1%
4. FHERE 152. 2% 150. 0% 181. 7% 160. 8% 99. 6%
5. FHEHEER2 93. 9% 90. 0% 127.1% 96. 5% 59. 8%
6. BR T3k 23 15 2 4 2
1. TFE 6. 8% 7.8% 5. 9% 8. 2% 3. 3%
8. FHA*LEK 4.78 4.79 7.38 4.00 1.14
9. E+E[EUREE 16. 6912 M 13. 42{8H 2. 128M 0. 94EH 0.21EH
10. 14 &= Y [EUREE 8,649FH| 10, 570FH 7, 839FH 3, 158 FH 1,513FH
1 EANELE 58. 0% 63. 0% 63. 0% 48. 0% 21. 4%
1 B

EH &it i Xriay T i Eih
1. BAfL4 5 223 143 14 36 30
2. SEAE S 158 110 13 21 14
3. FEHIER 70. 9% 76. 9% 92. 9% 58. 3% 46. 7%
4. FHERE 134. 4% 134. 0% 160. 4% 129. 0% 121. 5%
5. FHE R 80. 6% 80. 4% 96. 3% 77. 4% 72. 9%
6. lR T3k 37 18 0 6 13
1. BT 14. 2% 11. 2% 0. 0% 14. 3% 30. 2%
8. F AfLEK 3.71 4.01 6. 54 2.33 1.50
9. E+E[E UREE 15. 03{&M 11. 80{EH 0.99ZH 1. 70{&HM 0.54EH
10. 14 &= Y [EUREE 9,515FM]| 10, 731FH 7,583 FH 8, 094FH 3, 884FH
L EANEALE 53. 8% 61.8% 69. 2% 38.1% 0. 0%
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S51thE

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 260 173 14 67 6
2. EHMEH 130 88 11 26 5
3. FEAIE 50. 0% 50. 9% 18. 6% 38. 8% 83. 3%
4 FHEEFE 130. 3% 138. 2% 137. 7% 97. 8% 145. 6%
5. THFIERD 18. 2% 82. 9% 82. 6% 58. 7% 87. 4%
6. R T4 20 15 2 2 1
S 1.1% 8. 0% 12. 5% 2. 9% 14. 3%
8. I AFLE 3.72 4.18 5.00 1. 71 2.00
9. {RtEMEUNEE 10. 478 M 6.8118H 2. A4EH 1. 148H 0.08{EHM
10. 14861 Y EIUREE 8, 053FH 1, 7138FM| 22 222FH 4,3719FH 1, 546FH
L EANEALE 35. 4% 34. 1% 94. 5% 38. 5% 0. 0%
L h

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 492 360 26 86 20
2. EHMEH 300 232 21 40 1
3. FEAIE 61. 0% 64. 4% 80. 8% 46. 5% 35. 0%
4 FHEEE 126. 9% 126. 2% 145. 7% 119. 7% 135. 7%
5. EHFIERD 16. 1% 15. 7% 87.5% 71. 8% 81. 3%
6. iR T H% 2] 21 1 3 2
S 5. 2% 5. 5% 3. 7% 3. 4% 9. 1%
8. I AFLE 3. 65 3.70 1.14 1.80 2.00
9. {RtEMEUNEE 37. 20/ M 31. 6448 H 2. 4618 M 2. 71618 M 0. 34EH
10. 1#4 &1 Y EIUREE 12, 400FH 13, 638FH 11, 7112+ H 6, 904+ H 4, 864FH
T EANEALE 63. 3% 65. 1% 81. 0% 50. 0% 28. 6%
1 ] Hh &

IEH ast B Xvvay T3 =i
1. BAAL 4% 1,255 705 298 213 39
2. EHMEH 904 530 270 93 11
3. FEAIE 12. 0% 15.2% 90. 6% 43. 7% 28. 2%
4 FHEEE 167. 3% 162. 4% 191. 3% 130. 2% 127. 9%
5. T FERD 100. 4% 97. 4% 114. 8% 78. 1% 76. 7%
6. iR T 129 84 25 15 5
S 9.3% 10. 6% 1.7% 6. 6% 11. 4%
8. I AFLE 1.51 6.38 11.25 3.13 1.60
9. {RtEMEINEE 111. 63{8H 75. 358 M 27. 99 H 1. 74EH 0.55(8H
10. 1#4 &1 Y EIUREE 12, 349FH 14,218+ H 10, 367+ H 8, 324FH 4,976FH
L EANEALE 13. 1% 71. 3% 83. 3% 60. 2% 18. 2%
EE

IEH ast B Xvvay T =it
1. BAAL 4% 297 169 13 53 62
2. EHMEH 179 123 13 32 11
3. FEAIE 60. 3% 12. 8% 100. 0% 60. 4% 17.7%
4 FHEEE 160. 6% 172. 6% 209. 2% 116. 5% 98. 3%
5. T FIERD 97. 9% 103. 6% 146. 4% 69. 9% 58. 9%
6. iR T 34 29 2 1 2
S 10. 3% 14. 6% 13. 3% 1.9% 3. 1%
8. I AALEK 4.19 4.23 9.62 2.23 1.13
9. {RtEMEINEE 15. 6718 H 13. 298 H 1.47{8HM 0. 7918 H 0. 11{EH
10. 144861 Y EIUREE 8, 7153FH 10, 802+ H 11,327+H 2,482FH 1,044+ H
T EANEALE 61. 5% 12. 4% 16. 9% 34. 4% 0. 0%
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R

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 357 271 20 49 17
2. EHMEH 206 161 18 24 3
3. FEAIE 57. 1% 59. 4% 90. 0% 49. 0% 17. 6%
4 FHEEFE 169. 5% 171. 8% 192. 8% 141. 6% 133. 7%
5. THFIERD 101. 7% 103. 1% 115. 8% 85. 0% 80. 3%
6. R T4 28 20 3 4 1
S 1.3% 6. 9% 13. 0% 1.5% 5. 6%
8. I AFLE 4.38 4.18 1.50 3.50 2.00
9. {RtEMEUNEE 18. 76{E M 14. 6315 M 2. 038 M 2. 0818 M 0.02{EH
10. 14861 Y EIUREE 9, 106FH 9, 089FH 11, 258FH 8, 681+ H 913FH
L EANEALE 99. 2% 59. 0% 12. 2% 58. 3% 0. 0%
Aok

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 252 167 20 47 18
2. EHMEH 166 113 20 24 9
3. FEAIE 65. 9% 67. 7% 100. 0% 51. 1% 50. 0%
4 FHEEE 157. 8% 163. 0% 150. 9% 144. 9% 141. 9%
5. EHFIERD 94. 7% 97. 8% 90. 5% 86. 9% 85. 2%
6. iR T H% 22 15 1 4 2
S 8. 0% 8. 2% 4. 8% 1.8% 10. 0%
8. I AFLE 4.93 5. 05 1.75 2. 60 2.00
9. {RtEMEUNEE 19. 8612 M 16. 981 M 1. 70{8HM 1. 088 H 0. 10{2M
10. 1#4 &1 Y EIUREE 11, 966FH 15,028+ M 8, 507FH 4,484+ H 1, 159FH
T EANEALE 93. 6% 64. 6% 60. 0% 16. 7% 0. 0%
BEAR &R

IEH ast B Xvvay T3 =i
1. BAAL 4% 392 238 31 16 47
2. EHMEH 279 [N 30 42 36
3. FEAIE 11.2% 71. 8% 96. 8% 55. 3% 76. 6%
4 FHEEE 159. 3% 161. 3% 198. 6% 139. 9% 139. 5%
5. T FERD 95. 6% 96. 8% 119. 1% 83. 9% 83. 7%
6. iR T 43 31 4 3 5
S 9.9% 11. 5% 11. 4% 3. 8% 9. 6%
8. I AFLE 4.85 4.96 11.72 2.26 1.67
9. {RtEMEINEE 23 1481 7. THEH 3.57{EH 1. 27{8H 0.53{8H
10. 1#4 &1 Y EIUREE 8,294+ H 10, 392+ H 11,887+FH 3, 025FH 1,479FH
L EANEALE 94. 5% 59. 6% 16. 7% 50. 0% 16. 7%
B R Stk

IEH ast B Xvvay T =it
1. BAAL 4% 449 324 23 79 23
2. EHMEH 266 209 20 29 8
3. FEAIE 99. 2% 64. 5% 87. 0% 36. 7% 34. 8%
4 FHEEE 150. 3% 153. 2% 181. 8% 121. 9% 96. 0%
5. T FIERD 92. 2% 93. 8% 116. 4% 713. 5% 57. 5%
6. iR T 45 39 2 2 2
S 9. 1% 10. 7% 8. 0% 2. 5% 8. 0%
8. I AALEK 4.18 4.07 9.16 2.04 1.29
9. {RtEMEINEE 23. 82{8H 20. 768 H 1. 888 M 1. 12{8H 0.06{EM
10. 144861 Y EIUREE 8, 954+ H 9,935FH 9, 375FH 3, 857FH 150FH
T EANEALE 66. 2% 71. 3% 60. 0% 48. 3% 12. 5%
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= I h

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 283 181 15 47 40
2. EHMEH 149 105 9 27 8
3. FEAIE 92. 7% 58. 0% 60. 0% 57. 4% 20. 0%
4 FHEEFE 140. 0% 140. 5% 179. 0% 136. 5% 100. 6%
5. THFIERD 84. 0% 84. 3% 107. 5% 81.9% 60. 4%
6. R T4 13 9 1 2 1
S 4. 4% 4. 7% 6. 3% 4. 1% 2. 4%
8. I AFLE 3.25 3.28 6.33 2.64 1.25
9. {RtEMEUNEE 9. 53{8H 1. 716{8H 0.94EH 0. 681 M 0. 158 M
10. 14861 Y EIUREE 6,397+ H 7,389FH 10, 485+ H 2,524FH 1,857+H
L EANEALE 95. 7% 61.9% 88. 9% 33. 3% 12. 5%
AR R ih

IEH a5t B Xvvay T3 =i
1. BAAL#4 % 342 102 42 69 129
2. EHMEH 232 86 36 60 50
3. FEAIE 67.8% 84. 3% 85. 7% 87. 0% 38. 8%
4 FHEEE 160. 4% 176. 1% 169. 4% 156. 3% 131. 9%
5. EHFIERD 97. 5% 105. 6% 110. 1% 93. 8% 79. 1%
6. iR T H% 90 43 11 19 17
S 20. 8% 29. 7% 20. 8% 21. 6% 11. 6%
8. I AFLE 4.94 1.08 1.1 2.98 1.69
9. {RtEMEUNEE 23. 15(8H 15. 018 M 3. 328 M 3. 3918 H 1. 43f8HM
10. 1#4 &1 Y EIUREE 9,978+ H 17,453+ H 9,226FH 5 650FH 2, 855FH
T EANEALE 45. 7% 61. 6% 50. 0% 38. 3% 24. 0%
£E&E

IEH ast B Xvvay T3 =i
1. BAAL 4% 31,995 18, 799 5,497 5,482 2,217
2. EHMEH 22,132 13, 623 5,076 2, 690 743
3. FEAIE 69. 2% 12. 5% 92. 3% 49. 1% 33. 5%
4 FHEEE 152. 7% 154. 2% 164. 9% 128. 8% 127. 3%
5. T FERD 94. 7% 94. 7% 106. 4% 17. 4% 75. 9%
6. iR T 3,452 2,293 696 258 205
S 9. 7% 10. 9% 11. 2% 4. 5% 8. 5%
8. I AFLE 1.05 6.29 11.70 3. 06 1.65
9. {RtEMEINEE 3,045 71{EM| 2, 142. 93{E M 688. 15{8H 192. 692 H 21. 35(8H
10. 1#4 &1 Y EIUREE 13, 762+ H 15, 130+ H 13, 569+ H 7, 163+H 2, 8713FH
L EANEALE 69. 5% 70. 6% 83. 5% 50. 9% 19. 9%
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